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program)
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(FORTRAN)
EQUAL
EQUAL
EQUAL (main
1 (subroutine)
6.L.1

[MAIN PROGRAM]

6.12 [SUBROUTINE
CHK]

3

6.3 [SUBROUTINE SOLVEUV]
[SUBROUTINE
STREAM]

[SUBROUTINE ASSMBLE]
[SUBROUTINE APPLYBC]

[SUBROUTINE GS]



6.2

6.3

6.14

6.1.5

6.1.6

6.1.7

6.1.8
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6.1.3

[SUBROUTINE COEFF|

[SUBROUTINE SOLVEP]

[SUBROUTINE ASSMP]
[SUBROUTINE APPLYBC]

[SUBROUTINE PCG]

6.1.5
[SUBROUTINE UPDATE]

6.18
6.1.2
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NODE

O101
No—

1
2
3

15

2

FINITE ELEMENT DATA FOR FLUID FLOW
COUETTE FLOW PROBLEM

NPOIN  NELEM ~ NBOU  NITER TOL
1521 2888 6 10000 |.e-8

(NBOU)

DENSITY VISCOSITY

100.00 0.25
X
y X
y Xy
IBCX IBCY IBCP X Y V P
1 0 0 1.03333 0 25 0. 0
0 0 0 1.06667 0 0. 0. 0
1 1 0 1.1 0 12 03 0
1 0 1 1.82 0 0.5 0 1.3
0 0 0 183333 0 0. 0 0.
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1

IBC

IBC =
IBC = 0

I
182
181
3

ELEMENT NO.
1
2
3

NBOU
y NBOU
NBOU

6

)

2

ELEMENT NO.
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2

THIS DATA IS FOR FLUID FLOW ANALYSIS
COUETTE FLOW PROBLEM

NPOIN
16

1.00

NODE  IBCU IBCV IBCP

OO0 o OUOT =W —

10
11
12
13
14
15
16
ELEMENT

ELEMENT

NELEM NBOU  NITER TOL

18 1 10000 1.e-10
DENSITY VISCOSITY
1.00
X Y
1 1 1 0. 0. 0.
1 1 0 0.33333 0. 0.
1 1 0  0.66667 0. 0.
1 1 1 1. 0. 0.
8 0 1 0. 0.33333 0.
8 0.33333 0.33333 0.
8 0.66667 0.33333 0.
1 1, 0.33333 0,
1 0. 0.66667 0.
0 0 0.33333 0.66667 0.
g ) beseeT  pEbeer b
1, . .
1 1 1 0. 1. 1.
1 1 8 0.33333 1, 1.
1 1 0.66667 1, 1.
1 1 1 1. 1, 1,
| ] K
1 6 5
1 2 6
) 7 6
) 3 7
3 8 7
3 4 8
5 10 9
5 6 10
6 11 1%
6 7 1
7 12 11
7 8 12
9 14 13
9 10 14
10 15 14
10 11 15
11 16 15
11 12 16
Il AN
0 0
6.4 ‘COUETTE.DAT’
EQUAL
6.1
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>EQUAL

<Enter>

PLEASE ENTER INPUT FILE NAME:
COUETTE. DAT

THE FINITE ELEMENT MODEL CONSISTS OF
NUMBER OF NODES
NUMBER OF ELEMENTS

NUMBER OF MAX

ITERATION

16
18

= 10000

SPECIFIED STOPPINGTOLERANCE =.10000E-09

ITER = 1
ITER = 2
ITER = 3
ITER = 4
ITER 5
ITER 6
ITER = 7
ITER = 8
ITER = 9
ITER = 10
ITER = 11
ITER = 12
ITER = 13
ITER = 14
ITER = 15
ITER = 16
ITER = 17
ITER = 18
ITER = 19
ITER = 20
ITER = 21
ITER = 22
ITER = 23
ITER = 24
ITER = 25
ITER = 26
ITER = 21
ITER = 28
ITER = 29
ITER = 30
ITER = 31
ITER = 32
ITER = 33
ITER = 34
ITER = 35
ITER = 36
ITER = 37
ITER = 38
ITER = 39
ITER = 40
ITER = 41
ITER = 42
Start time:
End time:

ENTER THE OUTPUT

COUETTE.OUT

Stop -

6.5

1744043518E-01
. 1244696508E-01
.1526359401E-02
*5008540085E-02
.6356563309E-02
.4952938684E-02
.3097443314E-02
1694331769E-02
.8628479525E-03
.4356706688E-03
2314563298E-03
.1339650415E-03
.8227427126E-04
*5168782783E-04
*3173326452E-04
.1898314967E-04
1113182623E-04
.6451651065E-05
.3820617348E-05
2317057667E-05
*1436290457E-05
.9012309501E-06
.9654500165E-06
.3512312744E-06
.2169064488E-06
1297 687356E-06
.1659126379E-07
.4520395495E-07
.2705564407E-07
.1640922412E-07
.1043597972E-07
.6805278262E-08
4481348253E-08
.2941263523E-08

.1943130258E-08
126908094 6E-08
.8260768464E-09
.5259689977E-09
.3363724508E-09
.2195527996E-09
.1433963989E-09
.9369367782E-10
:57:12:23
157:14:37

FILE NAME

Program terminated.

.1000000000E+01
A4419766236E+00
945E+00
62E+00

28E+00

9

221E+00
439E+00
678E+00
4128382E+00
.6713262742E+00
.6735685300E+00
.6975181000E+00
.71187836208E+00
7138053235E+00
. 7051039829E+00
. 1221735051E+00
.1406897631E+00
75814 298 96E+00
. 1634774059E+00
.1535310969E+00
I574144981E+00
1702568913E+00
1643851711E+00
1684383722E+00
JTT76876774E+00
1635773100E+00
. 1638224089E+00
T1737912783E+00
°7813428682E+00
7Q9"7Q"399 RiP+
18058658571E+00
.8155500921E+00
.8309425035E+00
.8024551966E+00
8777109459E+00

.1000000000E+01
6379864 805E+00
. 1473739156E+00
.6635671406E+00
¢2022969855E+01
4326758042E+01
«7430534620E+01
.8339538 916E+01
.6078780922E+01
412132704 9E+01
.3101208285E+01
2768 6188 69E+01
.2769299876E+01
29564 9167 6E+01
.3083818039E+01
.3072483689E+01
2960605735E+01
2741362467E+01
.2590876039E+01
251208 6596E+01
1 2503151653E+01
.2509390382E+01
.2551084418E+01
.2600637935E+01
.2639875581E+01
.2542439980E+01
02409024625E+01
.2301563869E+01
644E+01
807E+01
252E+01
530E+01

EQUAL



‘COUETTE.OUT

NODE

.0000E+00
.0000E+00
.0000E+00
.0000E+00
.3333E+00
.3333E+00
.3333E+00
.3333E+400
.6667E+00
.6667E+00
.6667E+00
.6667E+00
.1000E+01
.1000E+01
.1000E+01
.1000E+01

6.6

6.6
v

.0000E+00
.0000E+00
.0000E+00
.0000E+00
.0000E+00
- . 1200E-09
- . 3314E-09
- .38 93E-09
.3163E-09
1971E-09
.0000E+00
.0000E+00
.0000E+00
.0000E+00
.0000E+00
.0000E+00

‘COUETTE.OUT’

P

.0000E+00
- .3051E-08
- .2692E-08

.0000E+00

.0000E+00

.3008E-09

.0000E+00

.0000E+00

.0000E+00

.0000E+00

.0000E+00

.0000E+00

.0000E+00
- . 2284E-08
- . 2677E-08

.0000E+00

81
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